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SAMN: oHEE Al D
M A2
SRl 2HEGHD HXE ©2IIS KD (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 5,000 5,000 0
ooy =45 Al 5,000,000& 5,000
T Al OF2FXRYAIE 22 666,823 516,823 150,000
OF2td 2 & 666,823 516,823 150,000
s ¢ 2Bots 22| 435,723 435,723 0
201 et A | 360,845 360,845 0
01 AFR2 2t 2l dl 750 750 0
Ooxg=s(s - s%) 110,000& x5 550
OStEgH (&P ) 40,000& x5 200
02 B2 360,095 360,095 0
OXzsS ®Ie3 155,113
cJlEea 629021 *3KIx 1187} A x 122 26,720
cxYRI
85.9& *1,8205 *0.25KW*9h*365 128,393
ORots ®IIe3 6,600,000& =12& 79,200
OXst2E: &2 15,919
ollEgez 6, 1603 *9 . 5KWx2 i A 128 1,405
olNME&HR= 87.2&*9.5KW*24h*2Jl A 3652 14,514
OBIFFZE Z2axd M) 18,453
cllE2ka 6,290 *70KW* 122 5,284
ocMaEAARS 85.9& *x70KWx6h*365 13,169
OZE2 £HANE HIIR2 15,838
oJlgez 6, 1602 *8KW*x3H A~ «10E 1,479
oNMaEsuRZa 87 . 2& *x24KW*10h*300 6,279
oJlEgez 6, 1603 *25KW* 11 A 102 1,540
ocNMAARS 87 .23 *x25KW*10h*300 6,540
OdotEE EHNXYH & =2
1,419,000 x12& 17,028
Oos4da 3 S 83 984,000& x12& 11,808
OOt 2EHDIEE R KA 22l
240,000 201 = 12& 5,760
OXNsX SIS 160, 000& = 1CH *x23] 320
OXDIIACHEI X BEE & 270,000 =104 270
OFd&XTHANE R 35,450
o= dAXY 1,000,000& *x204 2~ 2,000
oQlel&Hel &Y 80,000, 000& *3% 2,400
od=Ez HAXYH 360,000,000 *3% 10,800
oBIFFZE F&AXY 675,000,000& *3% 20,250
OxJ| X2 900, 000& *4CH *6% 216
ODILAICI2IRH(THE ) S XIHl 4,000,000 =1CH 4,000
ONZXZHAIE &2 FSUHAES AIES
60,0002 *1CH*x12& 720
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S Al Dt
PSP FRERHAlA 22
SEE 204 SR
M. o (BH) - HSAY - BAS ﬁlf& HD=2
206 M = Hl 74,878 74,878 0
01 & bl 74,878 74,878 0
Otz2s 24Xt 41,918
oclYLIESH®D
17,5002 *800S +{ (3652 »12Al 2t ) /14,000 Al 4,380
2}
olLIEEQAE D] 19,500& *800S *10% 1,560
oMY HEHZ
58,3002 x700S *{ (3652 x12Al 2t ) /14,000 Al 12,768
2t}
oMY HEHZZE OtHD|
37,620 *700S *10% 2,634
olED X 1,000,000& *300S *2% 6,000
oA IME I
10,5008 #42= +{ (365 «12A1 2t) /10,000 Al 2+ 194
}
ocAtZE S+ 75,000& *1,820S *3% 4,095
SRSPAFSE= D) 400,000 *118IH *7% 3,304
o482 NMA 2,840& +35,860m*5% 5,093
o OtHE I HH 7,500& 5« 12& 450
oJtgJ| 20| 10,0003 *3Jl = 12& 360
oldE 228 45,0003 x20 =123 1,080
OXstE2E ZB=XHM 2,095
odZy|O 1,610& %10 *12& 194
HZSotE )| 19,800& *8IH 12 1,901
oBos B 30,865
oMt EsEE
34,650 *2,300S *{ (365 x12A1 2t) /18,000 13,575
Al 2+ }x70%
oMt g otE D] 27,500& *2,300S *7% 4,428
o EHAY S| 7 81,400& 2,300 *3% 5,617
o ts&LE 45,0003 *2,300S *7% 7,245
L 2os #E Y d2 | 231,100 81,100 150,000
401 Al HIL 201 231,100 81,100 150,000
01 A& bl 231,100 81,100 150,000
OoBos A7 &X 350,000& x50 17,500
O JI2&ZF uUA 1,000,000& x15& 15,000
OkL®: - 5d &2 HH| 5,000,000& *3J4 4~ 15,000
OL&EHLUHE RANES 350,000& *2,400S *4% 33,600
OoOkL=: Bos WA 1,000,000& *150JH &~ 150,000
Z=AMEA XM 605,985 558,373 47,612
8,555
1,711
595,719
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= 8,555
Al 1,711
- 595,719
Jt2stEt & &gy 2tel 395,425 308,434 86,991
101 @124 4] 210,498 143,897 66,601
04 JIZHHZ2Z2XNSE S+ 210,498 143,897 66,601
OJXz2% -3t - &g - Z=at&el JIZ2tH2 2R
ol 2l 187,173
oA H| 65,6743 10 23« 104 & 151,051
oFXtxg 65,6743 x10H 452 29,554
oIt 65,6743 *x10H 10 6,568
OMER 2E3 23,325
o2 ERES 187,173,000& *4.5% 8,423
o UAABEHIEZ  187,173,000& x3.06% 5,728
LI QAEEHRES
5,728,000 x6.55% 376
clELERES 187,173,000& *1.5% 2,808
SNMNEERE S 187,173,000& *3.2% 5,990
201 Yot Y| 16,037 16,932 895
01 At 22l 2,600 1,300 1,300
OZelZegd &Y 1,300,000& 12X 1,300
OCADian +¢& 650, 0003 *2H 1,300
02 =224l 13,437 15,632 22,195
Osdg 220 2 55 = XA&cl 300,000 +604 1,800
Osg MHI L =)l S FRU(FLR)
1,554 5002 & 7
O=Xzel tHES 50,000& x14H 700
Ogxs NLYMHESH 3lBlI(&E) 200,000& 200
Ostt & &8 S & -ot=R=
40,000 200 =123 9,600
OZZAE ANs2=AE MRS
30,000& 128 360
206 = Hl 20,850 14,765 6,085
01 24l 20,850 14,765 6,085
O Iz & 3= 2l 17,200
oMM (=2tFAH, XYM S)
(5,500& *1,2000H )+ (10,000 70 ) 7,300
oHl2 (RIE, FI1&) 500& *3,000kg 1,500
oS (2= AL) 5,500& 800K 4,400
ckF==27¢ 20,000& »100= 2,000
o ME 10,000& 2002 2,000
O gH s 2l 650
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13,0008 *5074 650
O=YET U JIEFKHI 10,0009 *300% 3,000
305 BHA 2 S 1,000 1,000 0
MRS 1,000 1,000 0
Osx2el a3 1,000, 0002 1,000
401 Al HI YL = TH Yl 147,040 131,840 15,200
01 Al 147,040 131,840 15,200
O#H AN&2 RXze 800, 000! x40} 2 32,000
Ostet NlE2 RX2el 120, 000! #4204 A 5,040
o4 24 1,000,0009 %202 20,000
OJt24 M (B25cm0l4) 150,000 «2002 30,000
Ostet - =X +224 20,0008 *1,000%2 20,000
ZREY S += FH 100,000% %1002 10,000
OYZt+X MEXY 8 3,000,000 *53] 15,000
OZ=2 AEIZS 32 MA  15,000,0002 15,000
Z37Y 2 Y 2 114,800 159,497 144,697
206 T 2t 89,600 93,182 £3,582
EET 89,600 93,182 £3,582
Oz3sl - ¥ame 2,000
oHl2 5002 +1,000kg 500
oz ot 10,0002 * 150 1,500
OZst 7Y 38,200
o8, 0S8 700! 13,0002 23] 18,200
ootg, e 1,000 %10,000 *23] 20,000
orzAg 29,400
cBIAZ PYU(6=/H) 13,0002 +2,0000H 26,000
CHUHHIB(MEEEM) 170,000 *20 & 3,400
BUR(4E) 2,000% +2, 5002 *43] 20,000
401 Al HI YL 2 THYI 25,200 25,200 0
01 Al H 25,200 25,200 0
OHJIZ(+=2, 28S)Heltl
120,000 *210E 25,200
=xzel mgeel 32,052 12,476 19,576
201 et 2 Ayl 12,052 12,476 £ 424
02 222 12,052 12,476 £ 424
OXHS XAl 25,6508 *2CH 52
OXsx B8E 370,000 *4CH 1,480
ORsSHEBNeLYS 65,0002 *4CH 23 520
Ost2x KXl 2,500, 000! *4CH 10,000
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O=sXZel g 2y 20,000,000& 20,000
=2 AEHIIZYH 2el 49,450 49,450 0
201 L2l 17,450 17,450 0
01 At 22l 1,500 1,500 0
o=z 22s&= 0IsZH gtz
50,000 *30A| 2t 1,500
02 =224l 15,950 15,950 0
O=ZAI&ES AMEsX2el 350,000 «257H £ 8,750
O=ZAE &% 23 1,200,000& *6IH 2~ 7,200
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OJzatz ¥ stAME =35t
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= 8,555
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= 8,555
Al 1,711
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= 8,555
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T 3,992
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OMHHS oEst=228 2,810
od g 60,0002 »60H 360
C2HES 350,000& 350
oc=HEIA Sl 7,000& x6 A x50H 2,100
O=g M el 22 3,000
cRHAEH =EXE HZH 33,0002 20K 660
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SA oM E AT
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Chel: Plurel ofgr 23 (sl &2)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 4,000 4,000 0
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Qe HlagsAd =20 & KA 9,200 9,200 0
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01 Al Hl 9,200 9,200 0
OIS SHAM 2HNLAY  4,600,0008 4,600
Al 2,300
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S Al 22l 500 500 0
201 Let249] 500 500 0
01 At 22/l 500 500 0
Ostaigt ZHHl HII™Mlbl(65) 500,000& 500
MIZ2E 2l 103,847 108,250 A 4,403
201 ¢er24] 132 132 0
01 At 2t 2l 132 132 0
O2Y A= &4F ME 16,5002 804 132
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SN OETAD
M 0o OFE MEBDE
el Plurel ofer 23 (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,295
T 1,295
405 XHoHF S HI 3,700 3,700 0
= 1,110
Al 1,295
T 1,295
01 AL EZFH S 3,700 3,700 0
ORLRAHA st H=H E5 3,700,000 3,700
= 1,110
Al 1,295
- 1,295
HYR2AHH (HE ZAlD) 1,746,099 1,443,255 302,844
el 2l 1,639,674 1,346,183 293,491
=X 2eld AE 2| 107,848 102, 162 5,686
101 124 dl 107,848 102, 162 5,686
03 RIAHAZZ2TE = 107,848 102, 162 5,686
O=sX&cd 107,848
cJIE= 1,712,260 x2H x 123 41,095
o403 22,005
SJl2g 2,037,2603 *2H «50%*4 3| 8,150
d32=g 2,037,260 2% x45%*23] 3,668
M & ekt 2,037,2603 x2H «50%+53] 10,187
o dANHZ 1,712,260 *2H x35%+ 13| 1,199
ocZdAUxg 6,360
HE=L (R 40,0003 x1H =128 480
HE=H(RL - TH)
20,0003 x2H 128 480
Exged 125,000& 2 128 3,000
AAT¥AE 70,0003 x2H 128 1,680
g 30,0003 x2H 128 720
oS F4Y| 8,010
FHZ A 130,000 x2H «12& 3,120
Y E F Ot 2,037,2603 *2H «60%*23] 4,890
ocxU2ZSSE 13,141
ANt 22+
14,9913 x150%*7 Al 2 x2H x 128 3,778
S22R+E 89,0403 x2L x2H 123 4,318
AXReESsIHE 140, 1152 x2H 18 5,045
o P At 100,000& ~2H 128 2,400
o CH Bl S AtHI 50,000& x2H 128 1,200
SPNE=PNE == 11,804
- DUASBERES 94,721,000& *4.5% 4,263
SUALEERYE I 94,721,000 *3.06% 2,899
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AN AT Al D
M HY2AZH (HEZAD)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NEEERES 94,721,000& x1.5% 1,421
MTHEERES 94,721,000& *3.204% 3,035
COFIQYBHEYD
2,837,000& x6.55% 186
ocLSXENMEUHSE 50,0003 x2H 13| 100
o CHEF &AL 50,0003 x2H *13] 100
oIl =l 434
A= (o, 55) 110,000& »2H 220
2= 50,0003 x2H 100
OFM SH(E A 5) 40,0003 »2H 80
=N, 7,000& x2H 14
- &5t 10,000& »2H 20
CRES AA2HY| 1,531,826 1,244,021 287,805
101 14l 1,531,826 1,244,021 287,805
03 RIAHAZZ2E = 1,531,826 1,244,021 287,805
OkEzE=x& 1,531,826
=JIE= 1,904,880 18K x12& 411,455
cd0= 280,926
- J Y=g 2,229,880& *x200%* 18H 80,276
d32=Y 2,229,880& x100%* 18X 40,138
M= ekt 2,229,880& *250%* 18H 100,345
YEFOH 2,229,880& x120%* 18X 48,166
A3 1,904,880& »35%*18H 12,001
od Mg 60,840
CtE=Y (WX 40,0003 x14H 128 6,720
CESZ(RL - AH)
20,0003 23 128 5,520
ExgRg 125,000 = 18H »12& 27,000
e P | 70,0003 x18H 128 15,120
FEIR+Y 30,0003 *18H «x12& 6,480
oS¢ ZF 4| 60,480
FAHZ A 130,000& = 18H »12& 28,080
9| A I 100,000& «18H »12& 21,600
CH 21 S AkHI 50,0003 x18H 128 10,800
ox2ZRY 143,001
ANzt 22+
24,6203 x10Al 2t 18H x 128 53,180
Ort22 %2 8,200 «4Al 2t+18H 122 7,085
S22 98,4803 x20 x18H 35,453
AXReSsIt=g 131,340 +202 +18H 47,283
oS EEsE 1,757
NSeHM 439, 1003 18 #43] 1,757




L& & Al 1t
Y2 I (AE AL
el 2|
= _ — SHE|
SA - BB B (BA) - MM - BHES e
olfstd stxtzg XN 300,000 x6H x13] 1,800
SERNE=PNE == 119,651
- DRUHASEEERE 960,259,000& *4.5% 43,212
2pALRETY
960,259,000& *3.06% 29,384
NESERES 960,259,000& *1.5% 14,404
MTHEERES 960,259,000& *3.204% 30,767
CORIRYTEEYD
28,760,000& *6.55% 1,884
o HHEF s AL 50,000& x18H * 13| 900
ocLzXEMEUS 50,000& x18H * 13| 900
cHUEEXT HAS 2,000,000& »2H 4,000
oIl =l 3,726
A= (5 55) 110,000& =18 1,980
OrM SH( & 5t) 40,000& »18H 720
2 Xt 7,000& x18H 126
gt = 50,000& »18H 900
cZJUEZRZ 221,195,000 »2H 442,390
o= 106,425 97,072 9,353
fAMII2Z3Hl 106,425 97,072 9,353
201 L2l 14,685 13,092 1,593
01 At 22l 14,685 13,092 1,593
ORM2III=+8Hl 279,000 »27H 7,533
OUEBRAESZ (BT A=HA) 50,0008 128 600
OJl2gesda =l 7,0002 34«26 128 6,552
202 oddl 84,240 74,880
01 2ol bl 84,240 74,880
OJleg =80t 260,000& x27H x12& 84,240
203 ¥ S =&l 7,500 7,500
01 J22F PR =8| 3,300 3,300
OFBZZAN=2E 3,300,000& 3,300
04 NI 4,200 4,200
ORNZR2Y 350,000& 1228 4,200
S(HE S Al D) 189,584 180, 306
PN 189,584 180,306
Met2e s &2 189,584 180, 306
702 )13HES 189,584 180,306
(RWIE=RSE-—i= 189,584 180, 306
Olgzeldla &3
56,875,075,410& +1/3%1/100 189,584




